Knowledge Checks Chapter 4.5

Dr. Bryan Carrillo
1. Graph the point p = (3: °F) on a polar grid. Convert p to rectangular coordinates.

T‘:B, 9=5'E

2. Convert (—5, 5) into polar coordinates.

I distonce from origin :

lI(-5.5) = (0, = 4 -5)*+(5>* = {50 = 5{2

0 angle in C0,2T) so +hat

X=rsin(p) and y= rcos(9)
) 5 =5{2Sin(@) and -5=5{2cos(0>
%:since) and -Ez-_-cosce)

™
0= %

So (-5.5) in polar coordinates is (5{5_._3."_")_

3. Convert the polar equation » — 9 = 0 into rectangular coordinates.

r=Jx‘+52

r-az=o0

Xq,+ 31-_- 81 circle centered at (0,0) with radivs r=q.
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Chapter 4.5
4. Convert the polar equation r sin(f) + 5r cos(f) = 2 into rectangular coordinates.

rsin693=3 and rcosC8)=x

rsin(@) + 6rcosCd) = 2
3 + 6X =2

y= 2-5x line with Slope -5 and 9-in|-¢.v-ccp+ at 2.

5. Convert the rectangular equation 2? + (y — 1)? = 4 into a polar equation.

x=rcos(@) and Y=rsin(8)

x>+ (y-n*

=4
r*cos’(8) + (rsin(®) -1 = 4
I 2cos2(0)+ ('sin(0) -2rsin(8) + [ = Y

r(cos’(e) + sin*(e)) - 2rsin(® = 3

r*—2rsin(e)-3 =0
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